Titre

Titre

640 — 3A.Age category on HI
— Age = 55

320
160 —

Titre

40

10

I I I
Sample A Sample B Sample C

5120~ 3B.Age Category on MN
— Age 255

2560
1280
640
320
160 —
80
40 -
20 —
10

Titre

I I [
Sample A Sample B Sample C

640 — 3C.Gender on HI

320
160 —

40

20 T
10 —3
I I I

Sample A Sample B Sample C

Titre

5120— 3D.Gender on MN

2560
1280
640 —
320

18600: {.\\f T
o 1
10

Titre

I I I
Sample A Sample B Sample C

640
320
160 —
80 —
40 —
20

3E.Symptom on HI — Any symptoms

Sample A Sample B Sample C

5120
2560
1280
640 —
320
160 —
80
40 —
20 —
10

1

Sample A Sample B Sample C



